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this word:

mathematical expression numbers, letters,
and/or symbals that model a word expression
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When you model mathematical situations, remember

a+ band f + 0r — 1 are mathematical

expressions.

Operation

Some Word Expressions

Math Expression

Addition

nplus 7

add 7 to a number
7 more than n
thesumof 7 andn

nt+7

Subtraction

k minus 4

subtract 4 from a number

4 |less than k

the difference between k and 4

Multiplication

2 times a number b
multiply 2 and a number

twice a number b

the product of 2 and b

Division

the quotient of x and 10
divide a number x by 10
x divided by 10

one tenth of a number

X

x+100r10

Write a mat

So, 10 less than twice a number”’ is written as

Step 1

Step2 Write “10 less than.”

Write “twice a number, n”

oo

hematical expression for <10 less than twice a nuim

ouwssctcnn.uonnatosaonen-tcsuv-'o.cé

THINK "Less than” is
 different from “less.”
o
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Lesson 22: Modeling Mathematicay Situations
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the quotient of 6 and #, increased by 7 ___

3. 8 less than the product of 5 and & _—
4. 0.8 more than ¢ times 10 _—
5. 9 more than twice p _

6. the sum of 12 and the product of 7 and w
7. the sum of # and 2, divided bsf 5
8. 8 less than the quotient of 1 divided by 2

9. half the sum of 9 and v

10. 4 more than half a number,

Write a math expression for each situation.

Hilda’s sister is a years old. Hilda is 9 years less than twice
the age of her sister. Write a math expression for Hilda’s age.

12. Kevin’s hourly wage is $3.40 more than a third of Delia’ hourly
wage, d. Write a math expression for Kevin’s hourly wage.

SR, s y

* Which obeﬁratibns_
- division and acfdition

- or multipiication and '+
o subiraction?

B ,{f

- "Twice” represents
‘- which cperation?

EN

multiplication, or y,f
division?

will you use? .

AL

iyt

Order maﬁers for
which words?
less than, or twice?:
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In Questions 1-6, write the math expression
that models the word expression.

1. 2.7 more than a pumber
A. k+ 27
B k=27
c. 27—k
D. 27k
2. 8.67 less than a number
A, ¢ \
B. 8674 \
c. g+867
D g — 8.67
3. twice a number, increased by 17 | \l
A. 170+ 2 \
B on+ 17
n+ 17 \
C. 7 |
nt2 l
D. 77 \
4., the product of 12 and a numiber, \

decreased by 10

A. 10 — 12x C.
B. 12x — 10 D.

|
10 — 12 %

12 — 10x \

Circle the answe

b i R et .n....,.m.,,_ﬁ..,f:v.,.y..-...‘m...‘:_v...?m:j. i e Ty
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¢ for each question.

9 more than the quotient of a
number and 5

r~5T9
(r+5) +9

A, +9+5s G
B. r+9+5 D

The width of 2 field is w yards. The
length of the field is 22 yards less

than 5 times its width. Which math
expression models the length of the

field?

A. 22w — 5 C.
B. 22 — 5w D.

w + 22
Sw — 22

Ms. BuAbbud wrote b cards last week.
This week she wrote 12 fewer than
twice the number of last week’s cards.
Which math expression models the

number of cards she wrote this week?

2b -+ 12
12b - 2

A, 2b—12 C.
B. 12 — 2b D.

Eddie spent h hours last week
planting corn. This week he spent
18 hours more than 4 times last
weels time planting corn. Which
math expression models the
oumber of hours he spent this

week planting corn?

A. 18h — 4 C.
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Lesson 22 Modeling Mathematical Situations
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One week, three friends worked together and carned d dollars doing yard work. The
next week they worked together and earned $320. They split the money they earned
for both weeks equally among them.

Part A Write a mathematical expression for the amount of money each friend

earned for the two weeks.

Part B Use what you know about mathematical expressions to explain why
your answer is correct. Use words and/or numbers to support your

_explanation.

Fill in the blanks.

10.  An expression that uses numbers, letters, and/or symbols to model a word expression

is a(n)

11. A letter that represents a number is a(n)

a3




Name

egers and Rational Numbers

int

B Review for Mastery:

Xx-5=-6
x-5+5=-6+D5
x=-1

Date Class '

Solving Equations Containing Integers

. You can use addition to solve an equation involving subtraction.

Addition undoes subtraction. Adding the same number to both sides of
the equation keeps the equation balanced.

Check
Xx—-5=-0
1-52%-6
51-6Y

« You can use subtraction to solve an equation involving addition.

Subtraction undoes addition. Subtracting
sides of the equation keeps the equation balanced.

the same number from both

Check _
n+4=-15 n+4=-15
n+d-4=-15-4 19+4 % 15
n=-19 52 15V
Solve. Check your answer.
1. p-9=-3 2. w—2=-14
p-9+ = -3+ w— 2+ :-14+_
I — [
3. x—-12=-5 4. f-8=6
x-12 + ===+ f-8+ =6+
5.6=m-T 6. -4=5-10 7. 8=y-2 £
8. a+19="7 9. b+15=-9 10. 39 + t =45 g
:";f
11, -B=x+T 12. -2 =k+ 11 13. 10=-3 +J g
g
o —— e e ———— @
2-40 Holt McDougal Mathematics
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Name Date

Class

Integers and Rational Numbers

B Review for
(continued)

the same number keeps the equation balanced.

the same number keeps the equation balanced.

Mastery: Solving Equations Containing Integers

. You can use division to solve an equation involving multiplication.
Division undoes multiplication. Dividing both sides.of the equation by

Check
3y=-9 3y =-9
3y -9
_—— = 3! __.3 2....
y:—s ——9;—9\/

« You can use multiplication to solve an equation involving division.
Multiplication undoes division. Multiplying both sides

of an equation by

Check
2 __3 4 __3
-5 -5
5.8 __g.(-5) 40 , _
-5 -5
a=40 818V
Solve. Check your answer.
14, 5g=-35 ' -+ 15, -By=-96 16. 54 =-6f
59 _ =85 -8y _ 96 54 _ -6f
17. 3e =-33 18. -49="7n 19, =75 =-5b¢C
m s
20. — =~-15 21, — =-9 22, — =8
-6 -1
23. 4= 2~ o4, 9= 2 25, 4=
' — 5 6
2-41 Halt McDougal Mathematics
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So, the value of x in this equation is

Step 1

Step 2

Step 3

Step 4

To solve an equation,
side with the yariable until

Identify the operations Ot the same side

+ means add. 7x means 7/ K K.
Get 7x alone on one side.

7x+’l7-"=38

Get x alone on one qide.

T =

7x_-__ ____121__ atforanreverrentttt e

K= ——

Check:7><3+ 17 =21+ 17 = 38

as the variable.

remove the aumbers from the
the vatiab

le is alone.

% aaaaaaaaaaaaaaaaaa [E] REMEMBER SUbtraGt the Same %’
' number from hoth sidss. :

"m—awWwwﬁwmvwwwmw:st@?m =
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B—

REMEMBER Divide potn sides
y the same nUMBer. B
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Lesson 13; Solving Equations
i

" How can you undo
- muftiplication? . -
- subtract, or divlde?:

z+7=-1 6. d—13=-3

-~ Whatls —1 -~ 77
o =87

3x -+ 11 =17 8. S50 —2 =23 9. 10c + 6 = 46

10. L 4+2=4 11 9x+13=85 12. 6bh—12=060 :
)_(,ES'm'ul_tipiled by
what?

Wu found the length of a rectangular pen by solving the
equation 71 + 9 = 37, where [ is the length of the pen in
yards. What is the length of the pen?

14. A balloon ride costs $315.The equation 75h + 15 = 315
can be used to find the number of hours, h, for a balloon
ride. How many hours does the ride last?
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Explain

Math

Check

1. +4=3
10

2. Ta-2=40

3, Z4=5x+4

4, X o1
5

5. 35=15m+5

6. 20=3x-1

Homework
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Solving Equations Using the Distributive Property

1. 3(x+8)=-6

2. 75=-5(a+5)
3, B(y-6)=-16
4. 20=4(3-2)
5. 17 (x-2)=-34

6. 63=9(Q2-a)

10.

1.

12,

6@-%)=1
36=6(y~-2)
-/ (r+8)=-14
I(m+5 =42
-54=3 (2 +5m)

3 (x=7)+2=20

Pre-Algebra 8761

75
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Like Terms Equations name
date -class

Remember...Simplify first, then use inverse operations to isolate the variable.

1) Tx+4x =33 2) 8k—k =28 3) dn+17n=42

4) 8y-3y-1=24 5)  —3k=1=7k=33 8) -—5-4r+17r=73
7) 6a+3a+5=068 8) 82z-15-3z=-15 9) 1lx+2+x=14
10)  11k-19k =24 1) 9w+3+w=35 12) -7+2k-3k=0
13) 15m-12-12m=16 14) m+7+3m=20 15)  6w—3+3w=17
16) 2m+9-Tm=12 17) —4x+2-7x=15 18) k-7-9k=5

Check Yourself. Here are the scrambled answers:

—7~4—~3'——11—13 —20122—33—456789—~
2 15 3



